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@Zc*]:
» ÎZßV Óx�VÐ CÙ�Z[Æn/VÅ®Z�Z�ágèSìX zZzwÔz�zxÔzÎxX t6,p!ÎZÑ]&�V6,�ì:

�Z[�bÑiòìX
ÑiòÎZÑ]���czèÎZÑ]&{à(%æFN�**&¿�Z[zZáÎZÑ]�XCÙÎZw»�Z[ 10~ zZzw .1

 (10 x 1 = 10 Marks) ��ìX  1 ÑiòìXCÙÎZwÆa
(200) WJÎZÑ]�ÔZzgZk~¤(̈DÃÃð0*õÎZßVÆ�Z[�¶�XCÙÎZw»�Z[½ã�zÎ ~ z�zx .2

 (5 x 6 = 30 Marks) �Z]��X 6 CÙÎZwÆa /V6,�ìX

~0*õÎZÑ]�XZk~Ð¤(̈DÃÃð&ÎZßVÆ�Z[�¶�XCÙÎZw»�Z[½ã0*õÎ zÎx .3

(3 x 10 = 30 Marks) �Z]��X 10 CÙÎZwÆa /V6,�ìX (500)

zZzw
1 ÎZw�:

Æ Transition Function Æa Non-deterministic Finite Acceptor (i)

�Ç: Defined îg6,
(b) (a)

None (d)  (c)

�@*ì? Depend 6, StatusÆ  Machine, Output » Automata¾ (ii)

Any Finite Automata (b) Mealy Machine (a)

Both (a) & (c) (d) Moore Machine (c)

ÆaZEw�@*ì? Verify, Pumping Lemma (iii)

If a language is regular (b) If a language is irregular (a)

None (d) If two langauges are regular (c)

�@*ì? Denote Ã Set¾ (a+b), Regular Expression (iv)

(t, a, b) (b) {a,b} (a)

{ab} (d)  {a}  (c)4/1



�Cì? Produce Ã Parse Tree �Zq-Ðic*�{  Grammar z{ (v)

Ambigious (b) Regular (a)

None (d)  Unambiguous (c)

�$ËìX Recognised ¾Å§sÐ Context Free Grammarþþ (vi)

Finite State Automation (b) PDA (a)

None (d)  Both (a) and (b)  (c)

Å§bZEw�Cì? Memory ~Ãy TM �g`fs~Ð  (vii)

ROM (b) RAM (a)

Finite-Tape (d)  Infinite-Tape (c)

�Cì? Move~ Direction¾ TM~Memory (viii)

Forward (b) Backward (a)

None (d)  Both (a) and (b)  (c)

ìX Model of Computation �g`fs~ÐÃy� (ix)

Recursive Functions (b) Turing Machine (a)

All (d)  Post Systems  (c)

ìA$X Undecidable , P2 Zzg P1 is reducible to P2 Z¤/ (x)

P1 is Undecidable (b) P1 is decidable (a)

None (d)  P2 is decidable  (c)

z�zx
�c*7X Accepted, String �,��g`fs~ Verify 6,̈g�,Zzg Transition Diagram n�b� (2)

1011101 (iv) 111100 (iii) 010101 (ii) 0011 (i)
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�b�ìX ìó Non-deterministic Finite Automata Zq- (3)

Construct an Equivalent DFA

�zX Construct Ã Regular Expression Zq- CorrespondingÆState Diagram ~�b� Figure (4)

State and Prove Ardnen's Theorem (5)

Åz�s#�zX Ambiguity~ CFG VwÆ�B (6)

Find an unambiguous CFG equivalent to the grammar with productions.

S  aaaaS / aaaaaaaS / ^

�zX Convert~CNF Ã CFG �b� (7)

Consider   G = (V, T, P, S)

Where   V = {S, A, B}

T = {a, b}

P consist of

S ___> aB, A ___> bAA

S ___> bA, B ___> b

A ___> a, B ___> aS

A ___> aS, B ___> aBB

Construct TM to add two given integers ÐM\HB�? TM (8)

Åz�s#Ì�zX Type ÆCÙZq- Hierarchy Ã,ÐÒy�zZzg Chomsky's Heirarchyþ (9)4/3



zÎx
~ps�zZzg  NFA without Ã NFA with �b� (10)

It should accept same language as shown in figure.

Following sets are not regular »ZEw�D�ñ�3N� Pumping Lemma (11)

(a

(b

�z� Design Ã PDA Æa Language Åz�s#�zXZk ConceptÆ Push Down Automata (12)

�}�V Accept Ã String, na(w) < nb(w)

Å Input String 0011 �@*ìX Represent, Transition System ì& Turing Machine Zq- M (13)

ÃqÝ�zX Computation SequenceÆM Æa Processing

�g`�s~�b�ÄZ**]6,¿UKX (14)

Undecidable Language (b)  Decidable Language (a)

Post Correspondance Problem (PCP) (d) Halting Problem of TM (c)

Linear Bounded Automata (LBA) (e)

///
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